TG #R E R ERER

AE

AH FR23%F9A1H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.340 0.340 0.348 0.343
g8 A Z I 0.299 0.299 0.300 0.299
B a8 F F K 0.344 0.341 0.342 0.342
B 85 Y # 0.071 0.076 0.066 0.071
BEREMKRR) 0.301 0.257 0.252 0.270
BERERER(2E) 0.270 0.244 0.293 0.269
# 7 R E £ 0.341 0.300 0.317 0.319
B RIUkE RIS 0.324 0.345 0.322 0.330
BERELS2— 0.377 0.350 0.368 0.365
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g /8 — 0.263 0.284 0.276 0.274
2 A Z 0.273 0.278 0.279 0.277
B A b 2 K 0.351 0.349 0.347 0.349
B B % M 0.072 0.065 0.069 0.069
BERARFM(XE) 0.277 0.211 0.214 0.234
BERAREM(SE) 0.205 0.214 0.187 0.202
# 7 R E £ 0.239 0.265 0.224 0.243
BRIk RS 0.292 0.347 0.306 0.315
BERELV2— 0.336 0.320 0.305 0.320
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & i\ 0.244 0.275 0.260 0.260
g A = Ip 0.267 0.247 0.256 0.257
g a8 F K 0.329 0.327 0.325 0.327
B 85 9 # 0.072 0.071 0.072 0.072
BREARER(KE) 0.235 0.206 0.205 0.215
BEREER(2E) 0.182 0.162 0.166 0.170
# 7 R E £ 0.252 0.234 0.216 0.234
B RIUEEFRRS 0.262 0.281 0.280 0.274
BERECLVZ2— 0.264 0.272 0.242 0.259

MHBIFEIL. BEZOKE-BEDDREIZSINT,. 9:00 SERETREELEIZ10:00). 12:00.
15:00M1H3E. . # EE1cm,. 50cm,. 1TmD3ETEHAILTLVET,




TG #R E R ERER

AE

AH FR23%F9H2H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.330 0.323 0.354 0.336
g8 A Z I 0.297 0.261 0.287 0.282
B a8 F F K 0.339 0.335 0.336 0.337
B 85 Y # 0.071 0.054 0.052 0.059
BEREMKRR) 0.147 0.211 0.149 0.169
BERERER(2E) 0.255 0.252 0.303 0.270
# 7 R E £ 0.244 0.269 0.287 0.267
B RIUkE RIS 0.317 0.313 0.285 0.305
BERELS2— 0.396 0.366 0.413 0.392
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g A — 0.274 0.263 0.254 0.264
2 A Z 0.279 0.247 0.248 0.258
B A b F K 0.345 0.351 0.349 0.348
B B % M 0.068 0.073 0.065 0.069
BEEREM(KE) 0.193 0.215 0.177 0.195
BERAREM(SE) 0.203 0.202 0.249 0.218
# 7 R E £ 0.264 0.266 0.244 0.258
BRIk RS 0.310 0.309 0.274 0.298
BERELV2— 0.313 0.311 0.312 0.312
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & N 0.261 0.254 0.241 0.252
g A = Ip 0.254 0.265 0.255 0.258
g a8 F K 0.332 0.330 0.337 0.333
B 8 % # B 0.073 0.078 0.076 0.076
BREARER(KE) 0.199 0.231 0.231 0.220
BEREER(2E) 0.191 0.189 0.174 0.185
# 7 R E £ 0.241 0.234 0.209 0.228
ERIUEEFERS 0.309 0.307 0.260 0.292
BERECLVZ2— 0.256 0.266 0.241 0.254

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




REHRERERHBR

AEAH 23 9H5H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.326 0.315 0.328 0.323
g8 A Z I 0.301 0.302 0.346 0.316
B a8 F F K 0.334 0.333 0.340 0.336
B 85 Y # 0.065 0.068 0.069 0.067
BEREMKRR) 0.163 0.171 0.141 0.158
BERERER(2E) 0.252 0.256 0.261 0.256
# 7 R E £ 0.390 0.341 0.317 0.349
#h F550cm B . v()ny—A' b/ B
il B £ 9:00 12:00 15:00 1 {E
g a8 — 0.254 0.261 0.267 0.261
g B = I 0.286 0.276 0.260 0.274
B A P F K 0.332 0.331 0.329 0.331
B B Y M 0.070 0.054 0.069 0.064
BEEREM(KED) 0.186 0.205 0.207 0.199
BRAFEM(DE) 0.221 0.208 0.208 0.212
# 7 R E £ 0.283 0.283 0.244 0.270
HES1m AR I N AV
i B4 % 9:00 12:00 15:00 FEi{E
g B — 0.231 0.248 0.251 0.243
g A = Ih 0.258 0.239 0.239 0.245
B A b % K 0.317 0.315 0.313 0.315
B B Y 0.074 0.058 0.068 0.067
BRARER(KE) 0.211 0.208 0.223 0.214
BERREM(HDED 0.182 0.183 0.176 0.180
8 A R E & 0.232 0.273 0.242 0.249

NHEFEIL. FEZOKE-BEDPREICSLNT, 9:00 SERETRELEIL10:00). 12:00.
15:00M1H3ME. th tE1cm,. 50cm. TmD3IHTEHAIL TLVET,
HH.EEGRERLIUBEREL A —(IRERIZAIEZER IV =-LEE A,




TG #R E R ERER

AE

AH FR23%F9H6H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.301 0.325 0.330 0.319
g8 A Z I 0.319 0.334 0.308 0.320
B a8 F F K 0.329 0.327 0.325 0.327
B 85 Y # 0.067 0.066 0.068 0.067
BREARER(KE) 0.218 0.198 0.153 0.190
BERERER(2E) 0.276 0.242 0.252 0.257
# 7 R E £ 0.326 0.343 0.304 0.324
B RIUkE RIS 0.298 0.291 0.292 0.294
BERELS2— 0.330 0.381 0.340 0.350
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g B — I 0.264 0.267 0.268 0.266
2 A Z 0.292 0.274 0.279 0.282
B A b F K 0.333 0.331 0.336 0.333
B B % M 0.072 0.068 0.075 0.072
BEEREM(KE) 0.222 0.217 0.198 0.212
BERAREM(SE) 0.175 0.180 0.193 0.183
# 7 R E £ 0.254 0.275 0.289 0.273
BRIk RS 0.286 0.274 0.282 0.281
BERELV2— 0.307 0.306 0.302 0.305
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & N 0.251 0.255 0.252 0.253
g A = Ip 0.261 0.249 0.258 0.256
g a8 F K 0.320 0.322 0.325 0.322
B 8 % # B 0.074 0.072 0.066 0.071
BREARER(KE) 0.223 0.227 0.222 0.224
BEREER(2E) 0.163 0.153 0.168 0.161
% 5 R B f§# 0.333 0.227 0.251 0.270
ERIUEEFERS 0.290 0.287 0.286 0.288
BERELS2— 0.260 0.263 0.273 0.265

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

AE

AH 239/ 7H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.348 0.328 0.332 0.336
g8 A Z I 0.365 0.267 0.287 0.306
B a8 F F K 0.343 0.340 0.342 0.342
B 85 Y # 0.065 0.059 0.048 0.057
BEREMKRR) 0.181 0.174 0.194 0.183
BERERER(2E) 0.245 0.279 0.238 0.254
# 7 R E £ 0.388 0.348 0.341 0.359
B RIUkE RIS 0.307 0.328 0.343 0.326
BERELS2— 0.318 0.356 0.355 0.343
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g A — 0.250 0.263 0.261 0.258
2 A Z 0.290 0.250 0.287 0.276
B A b 2 K 0.341 0.339 0.344 0.341
B B % M 0.062 0.061 0.063 0.062
BEEREM(KE) 0.183 0.196 0.201 0.193
BERAREM(SE) 0.212 0.188 0.207 0.202
# 7 R E £ 0.269 0.276 0.293 0.279
BRIk RS 0.271 0.310 0.290 0.290
BERELV2— 0.313 0.325 0.308 0.315
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & i\ 0.244 0.252 0.250 0.249
g A = Ip 0.269 0.254 0.258 0.260
g a8 F K 0.336 0.334 0.332 0.334
B 8 % # B 0.072 0.069 0.075 0.072
BREARER(KE) 0.254 0.220 0.223 0.232
BEREER(2E) 0.192 0.173 0.186 0.184
# 7 R E £ 0.269 0.244 0.236 0.250
ERIUEEFERS 0.301 0.299 0.270 0.290
BERECLVZ2— 0.269 0.239 0.257 0.255

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

AE

AH FR234F9H8H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.310 0.327 0.335 0.324
g8 A Z I 0.327 0.298 0.319 0.315
B a8 F F K 0.337 0.335 0.334 0.335
B 85 Y # 0.056 0.067 0.069 0.064
BEREMKRR) 0.198 0.197 0.166 0.187
BERERER(2E) 0.296 0.228 0.214 0.246
# 7 R E £ 0.466 0.481 0.438 0.462
B RIUkE RIS 0.324 0.307 0.329 0.320
BERELS2— 0.349 0.357 0.375 0.360
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g B — I 0.275 0.265 0.258 0.266
2 A Z 0.283 0.283 0.276 0.281
B A b F K 0.338 0.336 0.329 0.334
B B % M 0.072 0.064 0.061 0.066
BEEREM(KE) 0.234 0.200 0.169 0.201
BERAREM(SE) 0.232 0.205 0.195 0.211
# 7 R E £ 0.287 0.278 0.284 0.283
BRIk RS 0.299 0.299 0.299 0.299
BERELV2— 0.263 0.313 0.299 0.292
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & i\ 0.269 0.258 0.249 0.259
g A = Ip 0.276 0.257 0.228 0.254
g a8 F K 0.332 0.324 0.321 0.326
B 8 % # B 0.081 0.061 0.067 0.070
BREARER(KE) 0.239 0.215 0.210 0.221
BEREER(2E) 0.183 0.178 0.162 0.174
# 7 R E £ 0.270 0.254 0.253 0.259
ERIUEEFERS 0.289 0.301 0.238 0.276
BERECLVZ2— 0.247 0.263 0.260 0.257

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

AE

AH FR23%F9H9H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.302 0.316 0.319 0.312
g8 A Z I 0.321 0.349 0.304 0.325
B a8 F F K 0.339 0.338 0.335 0.337
B 85 Y # 0.059 0.060 0.067 0.062
BEREMKRR) 0.165 0.193 0.162 0.173
BERERER(2E) 0.272 0.252 0.257 0.260
# 7 R E £ 0.340 0.333 0.331 0.335
B RIUkE RIS 0.305 0.293 0.340 0.313
BERELS2— 0.349 0.355 0.343 0.349
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g /8 — 0.274 0.260 0.246 0.260
2 A Z 0.284 0.278 0.279 0.280
B A b F K 0.335 0.329 0.331 0.332
B B % M 0.073 0.064 0.075 0.071
BEEREM(KE) 0.203 0.213 0.207 0.208
BERAREM(SE) 0.246 0.211 0.192 0.216
# 7 R E £ 0.268 0.280 0.272 0.273
BRIk RS 0.274 0.273 0.348 0.298
BERELV2— 0.286 0.309 0.314 0.303
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & i\ 0.282 0.274 0.229 0.262
g A = Ip 0.262 0.285 0.271 0.273
g a8 F K 0.317 0.322 0.321 0.320
B 8 % # B 0.074 0.074 0.066 0.071
BREARER(KE) 0.227 0.208 0.221 0.219
BEREER(2E) 0.214 0.197 0.189 0.200
# 7 R E £ 0.235 0.256 0.252 0.248
ERIUEEFERS 0.276 0.285 0.290 0.284
BEREL 42— 0.225 0.272 0.243 0.247

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

BAIFAHH ER23%F9H12H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.323 0.328 0.330 0.327
g8 A Z I 0.308 0.289 0.360 0.319
B a8 F F K 0.347 0.341 0.342 0.343
B 85 Y # 0.069 0.065 0.066 0.067
BEREMKRR) 0.214 0.154 0.165 0.178
BERERER(2E) 0.282 0.233 0.261 0.259
# 7 R E £ 0.306 0.336 0.331 0.324
B RIUkE RIS 0.304 0.277 0.320 0.300
BERELS2— 0.357 0.364 0.364 0.362
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g A — 0.258 0.261 0.260 0.260
2 A Z 0.298 0.268 0.301 0.289
B A b F K 0.339 0.337 0.337 0.338
B B % M 0.073 0.072 0.066 0.070
BEEREM(KE) 0.198 0.199 0.202 0.200
BERAREM(SE) 0.231 0.173 0.193 0.199
# 7 R E £ 0.285 0.281 0.287 0.284
BRIk RS 0.280 0.291 0.310 0.294
BERELV2— 0.307 0.339 0.295 0.314
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & N 0.251 0.256 0.247 0.251
g A = Ip 0.277 0.277 0.260 0.271
B A b F K 0.332 0.330 0.330 0.331
B 8 % # B 0.068 0.072 0.077 0.072
BREARER(KE) 0.216 0.179 0.222 0.206
BEREER(2E) 0.188 0.158 0.167 0.171
# 7 R E £ 0.229 0.220 0.215 0.221
ERIUEEFERS 0.271 0.286 0.283 0.280
BERECLVZ2— 0.263 0.266 0.247 0.259

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

BAIFAHH ER23%F9H13H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.326 0.316 0.319 0.320
g8 A Z I 0.289 0.288 0.267 0.281
B a8 F F K 0.342 0.340 0.344 0.342
B 85 Y # 0.066 0.065 0.071 0.067
BEREMKRR) 0.148 0.176 0.155 0.160
BERERER(2E) 0.271 0.261 0.286 0.273
# 7 R E £ 0.295 0.311 0.293 0.300
B RIUkE RIS 0.289 0.292 0.293 0.291
BERELS2— 0.331 0.338 0.378 0.349
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g B — I 0.252 0.260 0.246 0.253
2 A Z 0.291 0.291 0.277 0.286
B A b F K 0.339 0.337 0.337 0.338
B B % M 0.070 0.061 0.062 0.064
BEEREM(KE) 0.189 0.231 0.183 0.201
BERAREM(SE) 0.197 0.215 0.199 0.204
# 7 R E £ 0.261 0.273 0.304 0.279
BRIk RS 0.279 0.270 0.263 0.271
BERELV2— 0.301 0.298 0.310 0.303
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & i\ 0.232 0.276 0.222 0.243
g A = Ip 0.283 0.292 0.278 0.284
g a8 F K 0.337 0.335 0.334 0.335
B 8 % # B 0.072 0.057 0.072 0.067
BREARER(KE) 0.231 0.215 0.207 0.218
BEREER(2E) 0.176 0.187 0.177 0.180
# 7 R E £ 0.226 0.218 0.249 0.231
ERIUEEFERS 0.270 0.284 0.253 0.269
BERECLVZ2— 0.259 0.276 0.251 0.262

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

BAIFAHH Er23%F9H14H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.330 0.325 0.334 0.330
g8 A Z I 0.285 0.286 0.306 0.292
B a8 F F K 0.349 0.345 0.344 0.346
B 85 Y # 0.058 0.067 0.052 0.059
BEREMKRR) 0.159 0.139 0.191 0.163
BERERER(2E) 0.302 0.281 0.307 0.297
# 7 R E £ 0.372 0.312 0.353 0.346
B RIUkE RIS 0.307 0.304 0.322 0.311
BERELS2— 0.337 0.359 0.350 0.349
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g B — I 0.258 0.255 0.260 0.258
2 A Z 0.294 0.282 0.285 0.287
B A b 2 K 0.342 0.339 0.341 0.341
B B % M 0.060 0.059 0.064 0.061
BEEREM(KE) 0.188 0.188 0.194 0.190
BERAREM(SE) 0.218 0.213 0.231 0.221
# 7 R E £ 0.292 0.252 0.299 0.281
BRIk RS 0.287 0.283 0.310 0.293
BERELV2— 0.318 0.304 0.316 0.313
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & N 0.246 0.236 0.241 0.241
g A = Ip 0.248 0.283 0.261 0.264
g a8 F K 0.337 0.335 0.337 0.336
B 8 % # B 0.072 0.056 0.071 0.066
BREARER(KE) 0.233 0.206 0.224 0.221
BEREER(2E) 0.183 0.177 0.191 0.184
# 7 R E £ 0.223 0.220 0.262 0.235
ERIUEEFERS 0.278 0.279 0.297 0.285
BERECLVZ2— 0.264 0.260 0.252 0.259

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

BAIFAHH ER23%F9H15H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.320 0.324 0.330 0.325
g8 A Z I 0.324 0.307 0.302 0.311
B a8 F F K 0.343 0.341 0.343 0.342
B 85 Y # 0.068 0.058 0.061 0.062
BEREMKRR) 0.203 0.126 0.137 0.155
BERERER(2E) 0.272 0.273 0.307 0.284
# 7 R E £ 0.310 0.348 0.322 0.327
B RIUkE RIS 0.298 0.292 0.269 0.286
BERELS2— 0.362 0.329 0.335 0.342
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 T1E
g /8 — 0.248 0.252 0.257 0.252
2 A Z 0.315 0.282 0.238 0.278
B A b F K 0.340 0.339 0.339 0.339
B B % M 0.070 0.073 0.070 0.071
BEEREM(KE) 0.223 0.186 0.210 0.206
BERAREM(SE) 0.194 0.198 0.209 0.200
# 7 R E £ 0.276 0.252 0.255 0.261
BRIk RS 0.253 0.260 0.274 0.262
BERELV2— 0.291 0.298 0.301 0.297
HES1m BART w490y —~" Wb/ B
i % % 9:00 12:00 15:00 E{E
g & N 0.227 0.231 0.360 0.273
g A = Ip 0.256 0.286 0.250 0.264
g a8 F K 0.339 0.337 0.335 0.337
B 8 % # B 0.068 0.069 0.076 0.071
BREARER(KE) 0.220 0.193 0.198 0.204
BEREER(2E) 0.171 0.184 0.160 0.172
# 7 R E £ 0.241 0.219 0.229 0.230
ERIUEEFERS 0.272 0.263 0.290 0.275
BEREL 42— 0.274 0.262 0.257 0.264

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,




SR =R E FE R

BlEAH Fpi23F9H16H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.334 0.421 0.355 0.370
g A = RIBREEEPDOI-OFRETE
B A b F K 0.347 0.340 0.332 0.340
B B Y # 0.065 0.072 0.057 0.065
BEREMKRR) 0.197 0.232 0.259 0.229
BERERER(2E) 0.241 0.260 0.320 0.274
# 7 R E £ 0.311 0.321 0.292 0.308
ERIUEEHERES 0.285 0.294 0.280 0.286
BERECLVZ2— 0.357 0.337 0.344 0.346
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 Tl
g /8 — 0.300 0.305 0.277 0.294
B Z RIBREEEDDOI-HFRETE
B A b F K 0.344 0.330 0.332 0.335
B B % M 0.061 0.059 0.070 0.063
BEEREM(KED) 0.215 0.224 0.256 0.232
BERAREM(SE) 0.196 0.211 0.188 0.198
# 7 R E £ 0.275 0.265 0.296 0.279
B RILREE RS 0.260 0.274 0.274 0.269
BEREL I— 0.301 0.336 0.318 0.318
HESE1m AR E I N AV
il B4 £ 9:00 12:00 15:00 E s
g2 A - 0.297 0.275 0.243 0.272
g A = RIBREEEDDOI-HFRETE
g A F K 0.341 0.329 0.331 0.334
B B Y M 0.075 0.064 0.068 0.069
BRERBEMR(KE) 0.199 0.228 0.230 0.219
BERERER(2E) 0.173 0.168 0.156 0.166
£ A R E & 0.241 0.247 0.240 0.243
B RIURE RS 0.293 0.246 0.284 0.274
BEXRELS2— 0.263 0.259 0.253 0.258

NAIEX. FHEZORE-BEOHRREFICHSINT, 9:00(ERET'REELEI(X10:00), 12:00,

15 oO0OM1H3ME.#h EE1ecm.50cm,. ImMD3HT

FHRILTLET,




TG #R E R ERER

AEAHR FR23F9H20H

ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.355 0.332 0.339 0.342
g A = RIBEEEDOI-DHRETA

B A b F K 0.332 0.334 0.334 0.333
B B & KEDF=HFEE

BEREMKRERE) 0.226 0.269 0.168 0.221
BREER(2E) 0.247 0.236 0.200 0.228
& A R E £ 0.300 0.303 0.333 0.312
ERILEE RIS 0.305 0.286 0.266 0.286
BEXREL2— 0.362 0.342 0.351 0.352
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 s
# & N 0.230 0.241 0.248 0.240
B Z RIBEEEDOI-DHRETA

B A b F K 0.325 0.330 0.329 0.328
B B 9 # KEDF=HFEHE

BEEREM(XKED) 0.243 0.248 0.198 0.230
BRARFM(DE) 0.222 0.226 0.185 0.211
# 7 R E £ 0.238 0.217 0.274 0.243
SRIUEE RS 0.291 0.264 0.262 0.272
BEREL I— 0.335 0.286 0.311 0.311
HES1m B w90 =~ Wb/ B
il B4 % 9:00 12:00 15:00 F{E
g A — 0.232 0.224 0.235 0.230
B A = I KEIBEEEDDI-HRETE

B A b F K 0.297 0.300 0.301 0.299
B 7 4 # KEDF=HFEE

BRAEM(XE) 0.201 0.256 0.197 0.218
BERAREM(HED 0.162 0.196 0.186 0.181
£ A R B B 0.253 0.203 0.227 0.228
E RIS 0.270 0.253 0.258 0.260
BERELVA2— 0.275 0.284 0.264 0.274

SGAEX, BEZORE-BEDTREFICHSINT, 9:00(ERETREL(X10:00), 12:00,
15:00D1H3ME. # EE1ecm. 50cm. Tm®DI3ATEHAILTLVET,




REHRERERHBR

BlEAH Fp23F9H21H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.289 0.297 0.305 0.297
g A = RIBREEEDDOI-OHFRETE
B A b F K 0.332 0.334 0.334 0.333
B B Y # 0.064 0.066 0.073 0.068
BREARER(KE) 0.169 0.298 0.293 0.253
BERERER(2E) 0.250 0.293 0.314 0.286
% 5 R & f# 0.322 0.320 0.294 0.312
ERIUEEHERES 0.285 0.283 0.215 0.261
BERECLVZ2— 0.349 0.341 0.311 0.334
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 Tl
g B — I 0.274 0.265 0.267 0.269
B Z RIBREMEEDOI-DORER
B A b F K 0.339 0.340 0.338 0.339
B B % M 0.063 0.067 0.063 0.064
BEEREM(KED) 0.194 0.275 0.264 0.244
BERAREM(SE) 0.244 0.221 0.236 0.234
# 7 R E £ 0.249 0.251 0.260 0.253
B RILREE RS 0.276 0.265 0.203 0.248
BEREL I— 0.313 0.320 0.286 0.306
HhES1m B w40y -~ b/ B
il B4 £ 9:00 12:00 15:00 E s
g2 A - 0.266 0.243 0.246 0.252
g2 8 = I RIBREMEEDOIDOEREHR
g A F K 0.335 0.334 0.330 0.333
B B Y M 0.087 0.075 0.071 0.078
BERAREM(KE) 0.214 0.244 0.237 0.232
BERERER(2E) 0.180 0.203 0.212 0.198
£ A R E & 0.221 0.238 0.224 0.228
ERIUEEHEES 0.258 0.243 0.196 0.232
BERELVZ2— 0.255 0.265 0.262 0.261

NAIFEIL. BRESOKRE-BEDHRE(CHINT, 9:00(ERBTRELEIL10:00). 12:00.
15:0001A3ME. #t EE1cm, 50cm, 1ImDI3ETEHAILTLVET .




REHRERERHBR

BlEAH Fpi23F9H22H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.279 0.255 0.282 0.272
g A = RIBREEEDDOI-OHFRETE
B A b F K 0.238 0.237 0.239 0.238
B B Y # 0.068 0.071 0.072 0.070
BREARER(KE) 0.131 0.198 0.370 0.233
BERERER(2E) 0.244 0.208 0.288 0.247
# 7 R E £ 0.329 0.327 0.199 0.285
ERIUEEHERES 0.274 0.340 0.289 0.301
BERECLVZ2— 0.345 0.313 0.325 0.328
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 Tl
g B — I 0.266 0.243 0.240 0.250
B Z RIBREEEDPDOI-HFRETE
B A b 2 K 0.250 0.248 0.251 0.250
B B % M 0.052 0.075 0.084 0.070
BEEREM(KED) 0.173 0.203 0.285 0.220
BERAREM(SE) 0.176 0.178 0.230 0.195
# 7 R E £ 0.287 0.274 0.209 0.257
B RILREE RS 0.270 0.286 0.273 0.276
BEREL I— 0.282 0.286 0.301 0.290
HhES1m B w0y —~" b/ B
il B4 £ 9:00 12:00 15:00 E s
g B/ — b 0.213 0.212 0.213 0.213
g2 8 = I RIBREMEEDOIDOEREHR
g A F K 0.225 0.228 0.230 0.228
B B Y M 0.060 0.074 0.082 0.072
BRARER(KE) 0.166 0.200 0.277 0.214
BERERER(2E) 0.183 0.129 0.188 0.167
£ A R E & 0.249 0.251 0.219 0.240
ERIUEEHEES 0.269 0.266 0.261 0.265
BEREL 2— 0.275 0.252 0.271 0.266

NAIFEIL. BRESOKRE-BEDHRE(CHINT, 9:00(ERBTRELEIL10:00). 12:00.
15:0001A3ME. #t EE1cm, 50cm, 1ImDI3ETEHAILTLVET .




REHRERERHBR

BAIFAHH ER23%F9H26H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.320 0.318 0.300 0.313
g A = I RIBREEEDDOI-OHFRETE
B A b F K 0.392 0.382 0.380 0.385
B B Y # 0.069 0.060 0.065 0.065
BREARER(KE) 0.254 0.191 0.136 0.194
BERERER(2E) 0.217 0.260 0.252 0.243
# 7 R E £ 0.329 0.345 0.269 0.314
ERIUEEHERES 0.277 0.307 0.300 0.295
BERECLVZ2— 0.292 0.280 0.284 0.285
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 Tl
g /8 — 0.248 0.250 0.256 0.251
B Z RIBREEEDPDOI-HFRETE
B A b F K 0.362 0.359 0.358 0.360
B B % M 0.069 0.074 0.077 0.073
BEEREM(KED) 0.224 0.197 0.193 0.205
BERAREM(SE) 0.204 0.184 0.221 0.203
# 7 R E £ 0.308 0.298 0.274 0.293
B RILREE RS 0.266 0.297 0.259 0.274
BEREL I— 0.255 0.272 0.259 0.262
HhES1m B w0y —~" b/ B
il B4 £ 9:00 12:00 15:00 E s
g2 A - 0.226 0.237 0.247 0.237
g2 8 = I RIBREMEEDOIDOEREHR
g A F K 0.350 0.347 0.347 0.348
B B Y M 0.082 0.075 0.070 0.076
BRARER(KE) 0.239 0.208 0.209 0.219
BERERER(2E) 0.171 0.148 0.194 0.171
8 R E f§# 0.273 0.257 0.251 0.260
ERIUEEHEES 0.273 0.269 0.241 0.261
BEREL 2— 0.205 0.215 0.224 0.215

NAIFEIL. BRESOKRE-BEDHRE(CHINT, 9:00(ERBTRELEIL10:00). 12:00.
15:0001A3ME. #t EE1cm, 50cm, 1ImDI3ETEHAILTLVET .




REHRERERHBR

BAIFAHH ER23%F9H27H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.284 0.295 0.300 0.293
g A = RIBREEEDDOI-OHFRETE
B A b F K 0.358 0.356 0.355 0.356
B B Y # 0.065 0.073 0.061 0.066
BEREMKRR) 0.196 0.150 0.191 0.179
BERERER(2E) 0.276 0.286 0.260 0.274
# 7 R E £ 0.354 0.395 0.306 0.352
ERIUEEHERES 0.387 0.366 0.344 0.366
BERECLVZ2— 0.289 0.282 0.279 0.283
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 Tl
g /8 — 0.241 0.238 0.241 0.240
B Z RIBREEEDPDOI-HFRETE
B A b F K 0.355 0.351 0.349 0.352
B B % M 0.062 0.067 0.064 0.064
BERARFM(XKE) 0.202 0.171 0.207 0.193
BERAREM(SE) 0.202 0.203 0.202 0.202
# 7 R E £ 0.259 0.275 0.311 0.282
B RILREE RS 0.333 0.325 0.338 0.332
BEREL I— 0.257 0.230 0.223 0.237
HhES1m B w0y —~" b/ B
il B4 £ 9:00 12:00 15:00 E s
g A — 0.226 0.231 0.234 0.230
g2 8 = I RIBREMEEDOIDOEREHR
g A F K 0.340 0.340 0.341 0.340
B B Y M 0.072 0.070 0.072 0.071
BERAREM(KE) 0.224 0.197 0.201 0.207
BERERER(2E) 0.164 0.186 0.174 0.175
8 R E f§# 0.258 0.252 0.274 0.261
ERIUEEHEES 0.317 0.310 0.316 0.314
BERELVZ2— 0.203 0.223 0.216 0.214

NAIFEIL. BRESOKRE-BEDHRE(CHINT, 9:00(ERBTRELEIL10:00). 12:00.
15:0001A3ME. #t EE1cm, 50cm, 1ImDI3ETEHAILTLVET .




REHRERERHBR

BAIFAHH Er23%F9H28H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
g & N 0.298 0.301 0.312 0.304
g A = RIBREEEDDOI-OHFRETE
B A b F K 0.355 0.356 0.355 0.355
B B Y # 0.072 0.062 0.068 0.067
BREARER(KE) 0.197 0.196 0.155 0.183
BERERER(2E) 0.268 0.227 0.234 0.243
# 7 R E £ 0.385 0.275 0.336 0.332
ERIUEEHERES 0.273 0.270 0.333 0.292
BERECLVZ2— 0.253 0.284 0.259 0.265
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 Tl
g /8 — 0.242 0.246 0.253 0.247
B Z RIBREEEDPDOI-HFRETE
B A b 2 K 0.351 0.352 0.352 0.352
B B % M 0.070 0.073 0.065 0.069
BERARFM(XKE) 0.210 0.222 0.200 0.211
BERAREM(SE) 0.230 0.194 0.197 0.207
# 7 R E £ 0.247 0.272 0.266 0.262
B RILREE RS 0.268 0.269 0.329 0.289
BEREL I— 0.246 0.256 0.248 0.250
HhES1m B w0y —~" b/ B
il B4 £ 9:00 12:00 15:00 E s
g A — 0.221 0.223 0.228 0.224
g2 8 = I RIBREMEEDOIDOEREHR
g A F K 0.340 0.349 0.348 0.346
B B Y M 0.071 0.061 0.070 0.067
BRARER(KE) 0.203 0.216 0.223 0.214
BERERER(2E) 0.182 0.123 0.160 0.155
8 R E f§# 0.244 0.250 0.237 0.244
ERIUEEHEES 0.253 0.264 0.305 0.274
BERELVZ2— 0.224 0.229 0.233 0.229

NAIFEIL. BRESOKRE-BEDHRE(CHINT, 9:00(ERBTRELEIL10:00). 12:00.
15:0001A3ME. #t EE1cm, 50cm, 1ImDI3ETEHAILTLVET .




TG #R E R ERER

BAIFAHH ER23%F9H29H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.282 0.289 0.295 0.289
g A = RIBEEEDOI-DHRETA
B A b F K FRIBREEZEDDI-DHRETE
B B Y # 0.064 0.063 0.068 0.065
BEREMKRERE) 0.144 0.160 0.145 0.150
BREER(2E) 0.237 0.257 0.260 0.251
& A R E £ 0.303 0.257 0.351 0.304
ERILEE RIS 0.293 0.278 0.293 0.288
BEXREL2— 0.257 0.278 0.255 0.263
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 s
= & N 0.244 0.247 0.260 0.250
B Z RIBEEEDOI-DHRETA
B A b F K FRIBREEZEDDI=DHRETE
B B Y M 0.068 0.069 0.062 0.066
BEEREM(XKED) 0.200 0.175 0.168 0.181
BRARFM(DE) 0.188 0.208 0.218 0.205
# 7 R E £ 0.239 0.257 0.272 0.256
SRIUEE RS 0.256 0.262 0.275 0.264
BEREL I— 0.254 0.248 0.235 0.246
HES1m AR E I N AV
il B4 £ 9:00 12:00 15:00 L1l
g A — 0.218 0.237 0.245 0.233
g B = RIBEEEDDI-DHRETA
B A b F K RIBREEZEDDI=DHRETE
B B Y # 0.082 0.067 0.068 0.072
BERAFM(KE) 0.201 0.203 0.208 0.204
BERAREM(HED 0.162 0.178 0.176 0.172
& A R E £ 0.207 0.236 0.241 0.228
B RIUkE RS 0.256 0.249 0.265 0.257
BERELV7— 0.222 0.218 0.225 0.222

NEFEIL. BFEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EE1cm. 50cm. TmMD3 A TEHAILTLVET,




TG #R E R ERER

BlEAH Fpi2359H30H
ES1cm B . v()ny—A' b/ B
i % % 9:00 12:00 15:00 F{E
B &R i\ 0.287 0.280 0.283 0.283
g A = RIBREEEDDOI-OHFRETE
B A b F K FIBREEEDDOHKRETA
B B Y # 0.063 0.070 0.071 0.068
BEREMKRERE) 0.179 0.221 0.165 0.188
BREER(2E) 0.244 0.265 0.250 0.253
& A R E £ 0.319 0.423 0.354 0.365
ERILEE RIS 0.311 0.319 0.296 0.309
BEXREL2— 0.313 0.289 0.271 0.291
#h F=50cm B . v()ny—A' L/ B
i B4 £ 9:00 12:00 15:00 s
= & N 0.242 0.234 0.239 0.238
B Z RIBREEEDPDOI-HFRETE
B A b F K FIBREEEDDOHKRETA
B B Y M 0.064 0.064 0.078 0.069
BEEREM(XKED) 0.214 0.235 0.185 0.211
BRARFM(DE) 0.188 0.220 0.221 0.210
# 7 R E £ 0.318 0.281 0.262 0.287
SRIUEE RS 0.296 0.270 0.265 0.277
BEREL I— 0.252 0.267 0.256 0.258
HES1m AR E I N AV
il B4 % 9:00 12:00 15:00 F{E
g A — 0.243 0.223 0.228 0.231
g B = RIBREEEDDOI-HFRETE
B A b F K FIBREEEDDOHKETA
B B Y # 0.076 0.068 0.075 0.073
BERAFM(KE) 0.239 0.209 0.217 0.222
BERAREM(HED 0.174 0.186 0.157 0.172
£ A R B B 0.251 0.240 0.227 0.239
ERILEELEBERIS 0.265 0.241 0.253 0.253
BEREL 2— 0.210 0.212 0.243 0.222

NEFEIL. FEZOKE-BEDPREICHSLNT, 9:00 SERETRELEIL10:00). 12:00.
15 OOM1H3ME. #t EEF1cm. 50cm. TmMD3 A TEHAILTLVET,
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